ICM Review of Lessons 7.4, 7.5 & 7.6 Name

Solve each of the following. Show work (when possible)!!! Attach separate paper if necessary.
Lesson 7.4

1. Two cards are selected at random without replacement from a well- shuffled standard 52-card deck.

A. Find the probability that both cards are red. 2% ved cads

26 ¢ 2
P2red) = 2507 = o o7 -245

B. Find the probability that at least one of the cards is black.
| = P(zred) = |- 245 = 755

2. Ajar contains six red, five yellow, and four green candies. \
a) If one candy is selected at random, what is the probability that it is yellow? / c © /3

b) If two are selected without replacement what is the probability that both are red?
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c) Ifthree are selected without replacement, what is the probability that two are red? ( & |18 aot )
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3. Ina group of 20 ballpoint pens on a shelf in a department store, 2 are known to be defe
selects 3 of these pens, what is the probability that

e. If a customer

a) At least 1is defective? 2'1
| - P(noncde-F):\ _'220‘;33 = ]—%—83.-_ 45
™ b) No more than 1 is defective?
(0 or | def) = 183+ 2eleldeZ _ 210+ 2-153
1T 40
Lesson 7.5 odd e — \2z

Rk %o
4. Of 320 male and 280 female employees at a company, 160 of the men and 190 of the women are on flex-time

(flexible working hours). An employee is selected at random.
a) Find the probability that a female employee is on flex time.

fewales anfley 190 _ 14, 419
Semales 280 28

b) Find the probability that an employee is a male, given that they are not on flex time.
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+P(E) —PBAP) = P(EVF)
P.(fs)-r g6 = ® =7

5. Let E and F be two events and suppose P(E) = .35, P(F) = .55, and P(E U F) = .7. R= s "
a) FindPENF. = 2
b) Find P (E|F). P_SE nF‘)_ r __2_.‘ A 26l
P .66
6. Use the tree diagram to find the given probabilities.
%E
S £
2 c< g
7 5
a) PANE) +3 %.b = , 1B
b) P(E|A) .0 .
f
JPE 3% b +.5 %5 +.2%x.3 = [ H9]|
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Lesson 7.6
7. Forquestion 6 above, find P(B|E). . = P( B N E) = Sw.S : 25 . 2R
P(E) '."c’ qu *

8. Bill commutes to work. He takes the train 3/5 of the time and drives 2/5 of the time. If he takes the train, he
gets home by 6:30 pm 85% of the time. If he drives, then he gets home by 6:30 pm 60% of the time. If Bill gets
home by 6:30 pm, what is the probability that he drove to work? ; g
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